TOEFLLO OO OO PDFOOD0OOOOOOOOOOOOOO
00
https://www.100test.com/kao_ti2020/164/2021 2022 TOEFL5 E5
88 86 E4 c81 164180.htm(I)UI 0L OO 1.0000DO0O0O
Jooo/000doo,0oo00odoooobd. (which
0 0) (Who O O /how plays the most important role in
Something.) is a prevalent topic undergoing serious debate. There
exist two obvious and definite opinions regarding this controversy: A
and B. personally, I would like to vote for A for three reasons. The
main reason for my propensity for A is thatl1 [ What is also worth
noticing fact is thatld LI A is superior in another way, this isC] 1t s
undeniable that B has its own merits .\Whoever, B can only be
achieved conditionally because[d From what has been discussed
above, we may safely draw the conclusionthat ... 2.00 O O 0O O [0,
JOo00o00o00dododao. (compare &mp. contrast) To
choose A or B is something of a dilemma to the public because they
sometimes are confused by the seemingly good qualities of A, and
neglect the genuinely good aspects of B. For A, A J I [0 [0 [
Whoever, this "advantage" betrays a hidden drawback of A. AL] [

[1 OJ . For instance, Furthermore, ALJ U0 0O O OO O . O A good case
In point is... on the contrary, BL1 [J [0 1,A particular example for this
IsSLI moreover, BL [0 O 2,for exampled From what has been
discussed above, | may safely draw the conclusion that B fits me
betterintwoways:BO OO 1.BOOO2. (D) U OO OO 1.00
Joo,00o0ddodobooooo,0odoooooao
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[1 paraphrase. After pondering this opinion from several aspects, |
totally agree (disgree) with it . The reasons are presented below.
There is no denying thatL] Another reason why | agree(disagree)
with XXX is thatl] Finally,[] Based on the above discussion, | agree(
disagree ) with the opinionthat] DO OO0 OO0 OO0 OO
Jododobooodoodooooooouoooooa
O?2(WhichUO OO O O0O0O0O0O0) (00O agree) (Who [
[1 /how plays the most important role in C.) is a prevalent topic
undergoing serious debate. There exist two obvious and definite
opinions regarding this controversy: A and B. personally, | agree with
the above statement that A is superior than B in Doing C. The main
reason for my propensity for A is thatd [0 What is also worth
noticing fact is thatld I A is superior in another way, this isC] 1t s
undeniable that B has its own merits .\Whoever, B can only be
achieved conditionally becausel] From what has been discussed
above, we may safely draw the conclusion that ... 100Test LI [0 [ [J
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